		NOTICE FOR A	APPOINTMENT OF REGUL	AR AND RURAL DEALERSHIPS IN THE STA	TE OF KERALA - BHAR	AT PETROLEU	IM CORPO	RATION LIMI	TED					
S.	Name of Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KLs	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required	Minimum Depth of Site	Minimum Area of site Required (in		e arranged by Rs. In Lakh)	Mode of selection (Draw of	Fixed Fee / Min bid amount (Rs.	Security Deposit (Rs.
NO.						(CC/DC/CFS)	(in M)	Required (in M)	Sq. M.)			Lots/Bidding)	in Lakhs)	in Lakhs)
1	2	3	4	5	(SC/SC CC1/ SC PH/ST/ST CC1/ST	7	8A	8B	8C	9A Estimated working capital	9B Estimated fund required for	10	11	12
					PH/OBC/ OBC CC1/OBC PH/OPEN/ OPEN CC1/OPEN CC2/OPEN					requirement for operation of RO (Rs. in	development of infrastructure			
	Co. Annual of Paris and Labour Annual Co.				PH)					Lakhs)	at RO (Rs. in Lakhs)			
1 2	On Ammadam Peringottukara road between Ammadam and Chazhoor Mankada to Kadannamanna	THRISSUR	RURAL	110 160	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
	On Koratty- Nalukettu road from Koratty to Konoor on either sides MANANTHAVADY TO KALPETTA (NOT ON NH/SH)	THRISSUR WAYANAD	RURAL RURAL	160 180	SC OPEN	CFS DC	25 25	25 25	625 625	0 16	0 35	Draw of Lots	0	2
5	On road connecting Vellangallur centre and Mathilakam junction On Triprayar Cherpu road between Polytechnic jn and Pazhuvil	THRISSUR THRISSUR	RURAL RURAL	150 135	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	4
7 8	On Chavakad-Pavaratty- Kanjani road Thichoor village	THRISSUR THRISSUR	RURAL RURAL	160 115	SC OPEN	CFS DC	25	25 25	625 625	0	0	Draw of Lots	0	2
9	Munnar-Chinnakanal Road at Chinnakanal (NOT on NH/SH) On Annamanada - Moozhikulam road within Kallur Thekkummuri	IDUKKI	RURAL	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
10	village limits In & Around 5 Kms Outside Mananthwady Municipal Limits (Not on NH/SHI)	THRISSUR	RURAL	120	OBC OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	3
12	On Perumbavoor-Marampally-Aluva road, at Marampally on LHS towards Aluva not on state highway.	ERNAKULAM	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
13	On Mundur-Kottekkad-Viyuur bridge road (Outside corporation limits) Kunnicode to Pathanapuram	THRISSUR	RURAL	160 120	OBC OPEN CC 1	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	3
14 15	PADANNAKARA TO PINARAYI Kottakal Puthur Junction to Chappanangadi (On Perunthalmanna	KANNUR	RURAL	145	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
16 17	Road) UAHMUP School Omanur to Edavannappara	MALAPPURAM MALAPPURAM	RURAL	150 140	SC OBC	CFS DC	25 25	25 25	625 625	16	0 35	Draw of Lots Draw of Lots	5	3
18 19	anjarakandy to chalode ANJARAKANDY TO KEEZHALLUR	KANNUR KANNUR	RURAL	270 120	OPEN OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
20	THAVAM TO PILATHARA Tanalur village	KANNUR MALAPPURAM	RURAL RURAL	185 130	SC OBC	CFS DC	25 25	25 25	625 625	0 16	0 35	Draw of Lots Draw of Lots	0	2
22	Kuttipuram (Not On NH/SH) Maranchatty to Kuzhinakkipara	MALAPPURAM KOZHIKODE	RURAL RURAL	120 120	OPEN CC 2	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
24	VALLAPUZHA VILLAGE (NOT ON SH/NH) (On Kuruppumpady to Panamkuzhy Road)Between Kombanad and	PALAKKAD ERNAKULAM	RURAL	100 45	OBC CC 1 SC CC 1	DC CFS	25 25	25 25	625 625	16	35 0	Draw of Lots	5	3
25 26	Pandikadu Bus Stop Melathur to Pandikkad (On Manjeri melathur Road)	MALAPPURAM	RURAL	125	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
28	EDAVANNAPARA TO KOOLIMAD. From Pandhey Bridge to Govt UP school Chemaravattom.	KOZHIKODE MALAPPURAM	RURAL RURAL	130 150	OPEN OBC	CC	25 25	25 25	625 625	16 16	35 6	Bidding	10	3
30	Aralam bridge to manathana-hill Highway CHULLIKODE TO PUZHAKKATTIRI	MALAPPURAM	RURAL RURAL	140	SC OPEN	CFS DC	25 25	25 25	625 625	16	35	Draw of Lots	5	4
31 32	KONGAD WEST TO PULAPETTA (NOT ON SH/NH) Puthananthani to Patternadakkavu	PALAKKAD MALAPPURAM	RURAL	85 160	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	3
33	KOLATHUR TO KUNDAMKUZHY NOT ON HIGHWAYS Pathammille junction to Pattimattom junction via Perumbavoor Puthenkurish Road (NOT ON SH)	KASARAGOD ERNAKULAM	RURAL	220 110	OPEN ST	DC CFS	25 25	25 25	625 625	16	35	Draw of Lots Draw of Lots	0	2
35 36	NENMINDA TO BALUSERRY Anchal Bye pass	KOZHIKODE KOLLAM	RURAL RURAL	180 150	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	4
37	Neduvathoor to Puthoor On Neduvathoor Puthoor Road Kelakam to Boys town via Kottiyoor (not on NH/SH)	KOLLAM KANNUR	RURAL RURAL	120 190	OPEN CC 1 SC	DC CFS	25 25	25 25	625 625	16	35	Draw of Lots Draw of Lots	5	4
39	Chettipadi to vallikunnu From Murickassery to Kambilikandam (On Murickassery-	MALAPPURAM	RURAL	150	OBC	cc	25	25	625	16	6	Bidding	10	3
	Kambilikandam road, Not on SH/NH) KANKOLE TO MATHIL TOWN	IDUKKI KANNUR	RURAL	65 110	OPEN OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
42	On Aluva kalady road at Chowara. Poonoor-Narikkuni (not on SH)	ERNAKULAM KOZHIKODE	RURAL	75 140	OBC SC	DC CFS	25 25	25 25	625 625	16 0	35 0	Draw of Lots Draw of Lots	5	2
44	DELI NOT ON SH AMBALATHINKARA TO NEELESHWARAM	KASARAGOD KASARAGOD	RURAL RURAL	220 200	OPEN OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
46 47	Thuruthi Koottalida to Baluserry	KASARAGOD KOZHIKODE	RURAL	140 120	OBC SC	DC CFS	25 25	25 25	625 625	16 0	35 0	Draw of Lots Draw of Lots	5	2
48	SEETHANGOLI VIDYANAGAR ROAD, BETWEEN SEETHANGOLI JUNCTION AND DIET SCHOOL NILESWARAM TO KOTTAPURAM	KASARAGOD KASARAGOD	RURAL	200 140	OPEN OPEN	DC CC	25 25	25 25	625 625	16 16	35 6	Draw of Lots Bidding	5	4
50 51	Rajakkad- Poopara Road at Rajakumari (Not on NH/SH) FROM BAVUPARAMBU TO CHORUKALA (NOT ON SH/NH)	IDUKKI KANNUR	RURAL RURAL	80 110	OBC PH SC PH	DC CFS	25 25 25	25 25 25	625 625	16 0	35	Draw of Lots Draw of Lots	5	3
51 52 53	KADAPPALLAM TO CHATTANCHAL (NOT ON SH/NH) IRIKKUR TO BLATHUR (NOT ON SH/NH)	KANNUR KASARAGOD KANNUR	RURAL RURAL	170 170	OPEN OPEN	DC DC	25 25 25	25 25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
54	POLPULLY VILLAGE ON PALAKKAD-CHITTUR ROAD (NOT ON SH/NH)	PALAKKAD	RURAL	85	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
55 56	OLAVARA BRIDGE TO TRIKKARIPUR Ummarapoyil	KASARAGOD KANNUR	RURAL RURAL	160 245	OPEN SC	CC CFS	25 25	25 25	625 625	16 0	6	Bidding Draw of Lots	10 0	4
57 58	THALICHALAM TO MANIYAT (NOT ON SH/NH) CHOYAMKODE TO NILESWARAM (NOT on NH/SH)	KASARAGOD KASARAGOD	RURAL RURAL	140 170	OPEN OBC	CC DC	25 25	25 25	625 625	16 16	6 35	Bidding Draw of Lots	10 5	4
59	KANNANUR-THIRUNELLAI ROAD, KANNADI VILLAGE (NOT ON NH/SH) Cheeriyamkolli to Kambalakkad Kambalakkad-Pallikunnu-Venniyode-	PALAKKAD	RURAL	95	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
60 61	Thariode Rd ETHANUR TO THRIPPALUR (NOT ON SH/NH)	WAYANAD PALAKKAD	RURAL	120 85	ST	CFS DC	25 25	25 25	625 625	0	0 35	Draw of Lots Draw of Lots	5	3
62	MANNARKKAD(OUTSIDE MUNICIPAL LIMITS) TO THENKARA (NOT ON SH/NH) At Anachal on Munnar Bypass Road.	PALAKKAD IDUKKI	RURAL RURAL	85 90	OPEN CC 1	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	4
63	At Anachal on Munnar Bypass Road. MANKARA TO PALAKKAD ON PALAKKAD-PONNANI ROAD (NOT ON SH/NH)	PALAKKAD	RURAL	90	OPEN CC 1 OBC	DC	25	25	625	16	35	Draw of Lots Draw of Lots	5	3
65 66	KALPETTA TO PADINIARETHARA NOT ON SH/NH KUZHALMANNAM-KODUVAYUR ROAD (NOT ON SH/NH)	WAYANAD PALAKKAD	RURAL RURAL	120 80	SC OPEN	CFS DC	25 25	25 25	625 625	0 16	0 35	Draw of Lots Draw of Lots	0 5	2
67 68	Vyithiri to Tharuvanna (Not on SH/NH) PATTAMBI TO PADINIARAGADI VILLAGE (NOT ON SH/NH)	WAYANAD PALAKKAD	RURAL RURAL	120 100	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
69	Pukkattupady junction to Chembarakky Mosque via Pukkattupady Perumbavoor Road Menangadi to Panamaram (Not on SH/NH)	ERNAKULAM WAYANAD	RURAL RURAL	150 120	SC OPEN	CFS DC	25 25	25 25	625 625	0	0 35	Draw of Lots	0	2
70	PullPally to Sulthan Bathery not on NH or SH	WAYANAD	RURAL RURAL RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots	5 5	4 4
72	Kottukal Village, Neyyatinkara Taluk (not on SH/NH) Panthalam to Nariyapuram on Panthalam Kaipattoor Road outside Muncipal limits	PATHANAMTHITTA	RURAL	90	OPEN OBC CC 1	DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	3
74	Vaniyambalam to Amarambalam Kolenchery Pvt bus stand to Kadayirippu Hospital Jn Via Kadayirippu	MALAPPURAM ERNAKULAM	RURAL	127 100	SC CC 1 OPEN PH	CFS DC	25 25	25 25	625 625	0	0 35	Draw of Lots	0	2
75 76	Pattimattom road (not on SH) Chithara to Anchal on Kanjirathumoodu -Mannoor-Anchal Road Tholickal to Puthur In Kunnathur Panchayath on Sasthamkotta -	KOLLAM	RURAL	120	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
77	Kottarakkara Road St. Mary's HS School Morakkala to Edachira Junction via west	KOLLAM ERNAKULAM	RURAL	120	OPEN SC	DC CFS	25 25	25 25	625 625	16	35	Draw of Lots	5	2
	Morakkala road (Not on SH) Chunda to Anchal ON Chunda Anchal Road	KOLLAM	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
80	THADICADU IN ARACKAL VILLAGE Vattapara to Vencode	KOLLAM THIRUVANANTHAPURAN	RURAL	120 67	OBC OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	4
82 83	Thiruvanchoor to Eranjal bridge Pallimukku to Peyad on Peyad-Vellanad Road (Rural) BETWEEN MANTHRURUTHY AND ALAMPALLY (ON PAMPADY	KOTTAYAM THIRUVANANTHAPURAN	RURAL	80 135	OPEN SC	DC CFS	25 25	25 25	625 625	16 0	35 0	Draw of Lots Draw of Lots	0	2
84	KARUKACHAL ROAD) Ezhamkulam to Chandanapalli Bus stop on Ezhamkulam Kaipattoor	KOTTAYAM PATHANAMTHITTA	RURAL	80	OBC OPEN	DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	3
	Road SEETHANGOLI-BADIADUKKA ROAD	KASARAGOD	RURAL	145	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
88	Karukachal to Madukummoodu on Changanacherry Karukachal road Konni to Vallicode on Konni Kalpaattoor Road	KOTTAYAM PATHANAMTHITTA	RURAL	90	SC OBC	CFS DC	25 25	25 25	625 625	16	35	Draw of Lots	5	3
89 90	Aluva Pump junction to Kuttamassery on Aluva-Munnar Road Between Koothattukulam and Karinkallumoozhy on Vechoochira Erumeli Road	PATHANAMTHITTA	RURAL	100	OPEN OPEN	DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
91	Kattakkada to Ottasekharamangalam (Rural) From Pravachambalam Junction to Valiyarthala on Pravachambalam -	THIRUVANANTHAPURAN	RURAL	85 165	OBC	DC CFS	25 25	25	625	16	35	Draw of Lots	5	3
92 93	Ooruttambalam road Chengaroor to Kunnamthanam on RHS from Chengaroor	PATHANAMTHITTA	RURAL	100	SC OPEN	DC	25	25 25	625 625	0	35	Draw of Lots Draw of Lots	5	4
	Kooroppada village on Oravkkal-Kooropada-Pambadi Road Kozha to Pala on Kozha-pala road outside Pala municipal limit	KOTTAYAM	RURAL RURAL	120 120	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5 5	4
96 97	Sulthan Bathery to Thaloor via Chulliyode (Not on SH/NH) Valkom to Ullala outside municipal limit	WAYANAD KOTTAYAM	RURAL RURAL	120 120	ST OPEN	CFS DC	25 25	25 25	625 625	0 16	0 35	Draw of Lots Draw of Lots	0 5	2
98	Pala to Ramapuram on Pala Ramapuram road outside pala municipalaity Surya Kavala to Maniyaparambu boat Station	KOTTAYAM	RURAL RURAL	90	OPEN OBC	cc	25 25	25 25	625 625	16 16	6	Bidding Draw of Lots	10	4
99	Surya Kavala to Maniyaparambu boat Station In Between Mookkanoor and Pothamkutty Junction (On Mookannoor-Ezhattumugham road)	ERNAKULAM	RURAL	130 65	SC	CFS	25	25 25	625	0	0	Draw of Lots Draw of Lots	0	2
101	Between THATTEKADU BRIDGE And KUTTAMPUZHA (Not on SH/NH) UC College Kaniyankunnu Junction to Muppathadam post office (Not	ERNAKULAM	RURAL	40	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
102	on NH/SH) Shastamugal Jn (Vennikulam-Piravam Rd) to Maneed Govt VHC	ERNAKULAM	RURAL	150	OBC	DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots	5	3
103	school (via Thiruvaniyoor Maneed Rd)	LINANULAM	NUNHL	100	OPEN	DC.	43	43	023	10	33	Draw or Lots	3	-

		NOTICE FOR A	PPOINTMENT OF REGUL	AR AND RURAL DEALERSHIPS IN THE STA	TE OF KERALA - BHAR	AT PETROLEL	JM CORPO	RATION LIMI	TED					
S. No.	Name of Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KLs	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in M)	Minimum Depth of Site Required (in M)	Minimum Area of site Required (in Sq. M.)		e arranged by [Rs. In Lakh)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6 (SC/SC CC1/ SC PH/ST/ST CC1/ST PH/OBC/ OBC CC1/OBC PH/OPEN/ OPEN CC1/OPEN CC2/OPEN PH)	7	8A	8B	8C	9A Estimated working capital requirement for operation of RO (Rs. in Lakhs)	9B Estimated fund required for development of infrastructure at RO (Rs. in	10	11	12
104	Harippad to pallipad on Harippad Pallipad Raod Ranni - Maliapally Road not on SH	ALAPPUZHA PATHANAMTHITTA	RURAL RURAL	110	OPEN SC	DC CFS	25 25	25 25	625 625	16	35 0	Draw of Lots	5	4
105	from Paravur kavala to Vedimara Junction on both sides on Aluva Paravoor Road(Not on NH)	ERNAKULAM	RURAL	170	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
107	CHOONADU THAZHAVAMUKKU ROAD Nagankulangara to Cherthala on Vayalar Ettupurackal Road	ALAPPUZHA ALAPPUZHA	RURAL	110 100	OPEN OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
109	Nangiarkulangara Jn to Thattarambalam Jn KARUNAGAPPILLY BOYS HIGHER SECONDARY SCHOOL JUNCTION TO VELUTHAMANAL	ALAPPUZHA KOLLAM	RURAL	120 130	SC OBC	CFS DC	25 25	25 25	625 625	0 16	35	Draw of Lots Draw of Lots	5	3
111	VENMONY VILLAGE ON KOLLAKADAVU TO KULANADA ROAD KUNNOTTUPARAMBU TO VAZHAMMAL ROAD	ALAPPUZHA KANNUR	RURAL RURAL	100 100	OPEN CC 1	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
113	Kambissery - Kattanam MLA Road Between Kurumassery and Muzhikulam bridge (Not on SH/NH)	ALAPPUZHA ERNAKULAM	RURAL RURAL	100	OBC SC	DC CFS	25 25	25 25	625 625	16	35	Draw of Lots Draw of Lots	5	3
114 115	Chepra to Valakom Between Pukkattupady and Choondy Junction, (Aluva) not on state	KOLLAM	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
116 117	highway. Neyyatinkara to Mookkanur Road (not on NH and SH)	ERNAKULAM THIRUVANANTHAPURAN	RURAL	70 70	OPEN OBC	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	3
118 119	Between Nellad Junction and Mannoor on Nellad - Mannor Road (Not on State highway) From Karette to Koduvazhannoor on Nagaroor- Karette Road	ERNAKULAM THIRUVANANTHAPURAN	RURAL	30 115	SC OPEN	CFS DC	25 25	25 25	625 625	0	0 35	Draw of Lots Draw of Lots	0	2
		THIRUVANANTHAPURAN	RURAL	115	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
121 122	Karingamthuruth road Thachottukavu to Anthiyoorkonam Road	ERNAKULAM THIRUVANANTHAPURAN	RURAL	80 120	OBC OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	3
123	CHALODE TO PATTANUR BETWEEN AYARKUNNAM AND THIRUVANCHOOR (ON THIRUVANCHOOR -AYARKUNNAM ROAD)	KANNUR	RURAL	100 80	SC CC 1 OPEN CC 2	CFS DC	25 25	25 25	625 625	16	35	Draw of Lots Draw of Lots	5	4
125 126	Vellanathuruth to Azheekkal Road Within 3 kms from Kavottumukku Junction on St Andrews Road	KOLLAM THIRUVANANTHAPURAN	RURAL RURAL	110 145	OBC CC 1 OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	3 4
127	Mulathuruthy- Pallithazham junction to Neerpara Junction(on Kanjiramattom Thalappara main road) Within 3 kms from Poovar towards Arumanoor on Poovar-	ERNAKULAM	RURAL	150	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
128	Neyyatinkara Road From Vengola to Mannor on Mannor Ponjassery road not on state	THIRUVANANTHAPURAN ERNAKULAM	RURAL	110	OBC OPEN	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	3
129	highway. Sarkara Village, Chirayinkeezhu Taluka Perumathura to Poonthura on Chilakkoor- Vallakkadavu Road	THIRUVANANTHAPURAN THIRUVANANTHAPURAN	RURAL RURAL	110	OPEN OBC	DC DC	25 25 25	25 25	625	16 16	35 35	Draw of Lots Draw of Lots	5	4
131 132 133	Perumathura to Poonthura on Chilakkoor- Vallakkadavu Road OTTAPALEM TO CHERPULASSERY (NOT ON SH/NH) Manro Island perumon road	PALAKKAD KOLLAM	RURAL RURAL RURAL	140 100 100	OBC ST OPEN	CFS DC	25 25 25	25 25 25	625 625	16 0 16	35 0 35	Draw of Lots Draw of Lots Draw of Lots	0 5	2 4
134	Manro Island perumon road Kamukumchery to Punalur Mannar Veeyapuram Road	KOLLAM KOLLAM ALAPPUZHA	RURAL RURAL RURAL	100 100 100	OPEN OPEN OBC	DC DC	25 25 25	25 25 25	625 625 625	16 16	35 35 35	Draw of Lots Draw of Lots Draw of Lots	5 5	4 3
135	Mannar Veeyapuram Road Between Vengola and Pattimattom (On Vengola - Pattimattom road Not on State Highway)	ERNAKULAM	RURAL	90	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
137 138	Kottarkkara to Poovattoor on Kottarakkara - Mannady Road Pulpally to Nadavayal (Not on NH/SH)	KOLIAM WAYANAD	RURAL RURAL	100 120	OPEN CC 1	DC DC	25 25	25 25	625 625	16 16	35 35	Draw of Lots Draw of Lots	5	4
139	Kundukadavu Junction Ponnani To Edappal (Ponnani palakkad Road) From Mattoor junction to Nedumbassery on LHS(On Mattoor-	MALAPPURAM	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
140	Airport road) Thiruvankulam In to Mulathuruthy In both sides via Chottanikara Mulanthuruthy Road	ERNAKULAM ERNAKULAM	RURAL	105	SC OPEN	CFS DC	25 25	25 25	625	16	0	Draw of Lots Draw of Lots	5	4
142	Kizhakkambalam Junction to Ponjassery Junction via Chitrapuzha Ponjassery road (Not on SH)	ERNAKULAM	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
143	Neerad to UAHMUP School Omanur (On Kondotty Edavannappara Road) On SH22 from Wadakkanchery to Vazhakode on either sides	MALAPPURAM THRISSUR	RURAL	100 190	OBC OPEN	DC DC	25 30	25 30	625 900	16 32	35 75	Draw of Lots	5 15	3 5
145	On RHS Ponnani CV Junction to Kuttipuram Bridge Tavanur on NH66 On LHS Kuttipuram Bridge Tavanur to Valanchery on NH 66	MALAPPURAM MALAPPURAM	REGULAR REGULAR	250 250	OBC SC	CC	35	35	1225	32	12	Bidding Draw of Lots	30	4
147	ON NH66 between Vadanapally and Chavakkad Calicut Town 1 Within Municipal Limits	THRISSUR KOZHIKODE	REGULAR REGULAR	220 348	OPEN OPEN	DC	35	35 20	1225	32 32	95 12	Draw of Lots Bidding	15	5
149	Calicut Town 2 Within Municipal Limits KT Gopalan Road to KSCSTE-CWRDM on CWRDM Road, Calicut	KOZHIKODE KOZHIKODE	REGULAR REGULAR	348 220	OBC SC	DC CFS	20	20 20	400 400	32 0	75 0	Draw of Lots Draw of Lots	15	4 3
151 152	On Mankave-Pantheerankave Road, Calicut On SH 69 LHS from Kunnamkulam to Peramangalam	KOZHIKODE THRISSUR	REGULAR REGULAR	250 200	OPEN OPEN	DC DC	20 30	20 30	400 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
153	On NH 66 between Chandapura center, Kodungaloor and Perinjanam	THRISSUR	REGULAR REGULAR	240 150	OBC OPEN	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots	15 15	4
154 155 156	On SH22 between Urakam and Christ college junction,irinjalakuda On RHS Kuttipuram Bridge Tavanur to Valanchery on NH 66 West Hill to Pavangad on Kannur Road, Calicut	MALAPPURAM KOZHIKODE	REGULAR REGULAR	250 197	ST OBC	CFS DC	35 20	35 20	1225 400	0 32	0 75	Draw of Lots Draw of Lots	0	3
157	On NH544 LHS from Koratty In to Potta CHERPULASSERY TO TOOTHA BRIDGE ON SH-53	THRISSUR	REGULAR REGULAR	480	OPEN CC 1 OPEN	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
159 160	Feroke Town in an around 5 Kms On SH 69 between Kunnamkulam and Perumpilavu	KOZHIKODE THRISSUR	REGULAR REGULAR	240 180	SC OBC	CFS DC	20	20	400 900	0 32	0 75	Draw of Lots Draw of Lots	0	3
161	On SH 69 between Amala Hospital jn and Punkunnam Jn On Chettupuzha- Aranattukkara road, Thrissur	THRISSUR THRISSUR	REGULAR REGULAR	330 180	OPEN OPEN	CC DC	30 25	30 25	900 625	32 32	12 55	Bidding Draw of Lots	30 15	5
163 164	On NH66 from Chavakkad to Kadikkad on either sides Thurakkal Byputty Bypass Road Manjeri Town	THRISSUR MALAPPURAM	REGULAR REGULAR	210 160	SC OBC	CFS CC	35 25	35 25	1225 625	0	0 12	Draw of Lots Bidding	0	3 4
165 166	Within Kondotty Muncipal Limits (Not on NH/SH) Petta Junction to Irimpanam Junction on NH85	MALAPPURAM ERNAKULAM	REGULAR REGULAR	160 200	OPEN CC 2	cc	25 35	25 35	625 1225	32 32	12 12	Bidding Bidding	30 30	5
	Kilikollur to Kundara on NH 744 Either side PALAKKAD TO ALATHUR ON NH-544	KOLIAM PALAKKAD	REGULAR REGULAR	200 160	OBC CC 1 SC CC 1	CC CFS	35 35	35 35	1225 1225	32 0	12 0	Bidding Draw of Lots	30 0	4
169 170	On NH544 LHS from Mannuthy to Paliyekkara Toll On SH 51 from Chenthuruthy junction to Kodungallur	THRISSUR THRISSUR	REGULAR REGULAR	210 115	OPEN OPEN	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
171 172	Malappuram Bypass on NH 966(Calicut Palakkad Bypass) Thottapaya to (Manjeri melathur Junction) Pandikkad On SH73	MALAPPURAM MALAPPURAM	REGULAR REGULAR	170 170	OBC SC	CC CFS	30 30	30 30	900 900	32 0	12 0	Bidding Draw of Lots	30 0	3
173 174	Kanjany to Westfort Junction on SH75 On NH544 LHS from Koratty in to Pongam	THRISSUR	REGULAR REGULAR	220 320	OPEN OPEN	cc	30 35	30 35	900 1225	32 32	12	Bidding Bidding	30	5
	Kavungal Junction to Ramapuram Town on NH 966 On SH 76 from Kechery center to Velur on either sides Valimukku to Idimuzhikkal On NH 66 (LHS Travelling from Kochi to	MALAPPURAM THRISSUR	REGULAR REGULAR	180 150	OBC OPEN	DC DC	30	30	900	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
177	Valimukku to idimuznikkal On NH 66 (LHS Travelling from Kochi to Calicut) Within Malappuram Town Limits (Not on NH/SH)	MALAPPURAM MALAPPURAM	REGULAR REGULAR	230 160	ST OPEN	CFS DC	35 25	35 25	1225 625	32	0 55	Draw of Lots Draw of Lots	0 15	3 5
179 180	Kariyavattom to Melattur Junction On SH On Civil lines road between Puzhakkal junction and West fort jn	MALAPPURAM THRISSUR	REGULAR REGULAR	150 270	OBC OPEN CC 1	DC CC	30 25	30 25	900 625	32 32	75 12	Draw of Lots Bidding	15 30	4 5
181 182	On Koorkencherry- Chiyyaram road, Thrissur (not on SH) Valanchery to Moorkkanadu Grama Panchayat Office On SH73	THRISSUR MALAPPURAM	REGULAR REGULAR	180 140	SC OBC	CFS DC	25 30	25 30	625 900	0 32	0 75	Draw of Lots Draw of Lots	0 15	3 4
183	VADAKKENCHERRY TO PANTHALAMPADAM ON LHS ON NH-544 Malappuram to (Straight Path Ineternational School) Panakkad On SH72	PALAKKAD MALAPPURAM	REGULAR REGULAR	150 160	OPEN OPEN	CC DC	35 30	35 30	1225 900	32 32	12 75	Bidding Draw of Lots	30 15	5
184 185 186	Kondotty to Arekkode On SH 65 Perinthalmanna to Pulmanthole On SH39	MALAPPURAM MALAPPURAM	REGULAR REGULAR	170 150	OBC SC	CC CFS	30 30	30 30	900	32 0	12	Bidding Draw of Lots	30	4 3
187	CALICUT CITY WITHIN MUNICIPAL LIMITS Nilambur to Chungatara On SH28	KOZHIKODE MALAPPURAM	REGULAR REGULAR	310 150	OPEN OPEN	DC DC	20	20	400	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
189	Chemmad to Parappanangadi On SH65 AMBALATHARA TO ERIYA	MALAPPURAM KASARAGOD	REGULAR REGULAR	120 145	OBC SC	DC CFS	30 30	30 30	900	32	75 0	Draw of Lots Draw of Lots	15	4
191	Pookuttumpadam to Kalikavu Panchayat Office On SH 39 Kondotty to Neelangoth On NH 966	MALAPPURAM MALAPPURAM	REGULAR REGULAR	150 220	OPEN OPEN	DC CC	30 35	30 35	900 1225	32 32	75 12	Draw of Lots Bidding	15 30	5
193 194	SREEKANDAPURAM TO IRIKKUR Edappal to Changaramkulam On SH69	KANNUR MALAPPURAM	REGULAR REGULAR	115 150	OBC PH SC PH	DC CFS	30 30	30 30	900 900	32 0	75 0	Draw of Lots Draw of Lots	15	4
195 196	MUNDUR TO KONGAD ON SH-53 On Cheroor road from Chembukkav round to Ramavarmapuram	PALAKKAD THRISSUR	REGULAR REGULAR	120 150	OPEN OPEN	DC DC	30 25	30 25	900 625	32 32	75 55	Draw of Lots Draw of Lots	15 15	5
	Vallathur to Tirur on SH 71 On Mannuthy road between Trichur Museum and Market junction	MALAPPURAM THRISSUR	REGULAR REGULAR	130 230	OBC OPEN	DC DC	30 25	30 25	900 625	32 32	75 55	Draw of Lots Draw of Lots	15 15	4 5
199	On LHS Palathingal to Vazhikkadavu On SH28 MELAMURI ROAD JUNCTION TO PARALI ON PALAKKAD-PONNANI	MALAPPURAM PALAKKAD	REGULAR REGULAR	150 120	SC OPEN	CFS CC	30 30	30 25	900 750	0 32	0	Draw of Lots Bidding	0	3
200	ROAD Within 2 KM from Minipumba Bridge On SH69 towards edappal Valuebage to Kottakal LHS on NH 66	MALAPPURAM MALAPPURAM	REGULAR REGULAR	140 220	OBC OPEN	cc	30	30	900	32	12	Bidding	30	4 5
202	Valanchery to Kottakal LHS on NH 66 From Kazhakkoottam to Pallipuram on NH 66 LHS Edarikkode to Kolappuram On NH 66(RHS While travelling from Kochi	THIRUVANANTHAPURAN	REGULAR	180	ST	CFS	35 35	35 35	1225	0	95	Draw of Lots	0	3
204 205	to Callcut) Angadipuram to MES Medical College On SH73	MALAPPURAM MALAPPURAM	REGULAR REGULAR	250 150	OBC OPEN	CC DC	35	35 30	1225 900	32 32	12 75	Bidding Draw of Lots	30 15	5
206 207	THERTHALLI (CHERUPUZHA ALAKODE ROAD) Kottakal to Ponmala On SH 71	KANNUR MALAPPURAM	REGULAR REGULAR	145 140	OPEN CC 1 OBC	DC DC	30 30	30 30	900 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
208 209	On NH544 LHS from Amballur to Lalys hypermart, Pananchery On NH 66 from Moonnupeedika to Triprayar	THRISSUR	REGULAR REGULAR	320 220	SC OPEN	CFS DC	35 35	35 35	1225 1225	0 32	95	Draw of Lots Draw of Lots	0 15	3
210 211	Calicut to Calicut University (LHS) on NH 66 Calicut to Calicut University (RHS) on NH 66	KOZHIKODE KOZHIKODE	REGULAR REGULAR	250 240	OPEN OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5

		NOTICE FOR A	PPOINTMENT OF REGIII	AR AND RURAL DEALERSHIPS IN THE STA	TE OF KERALA - RHAR	AT PETROLEI	IM CORPO	RATION LIM	ITED					
		NO NEE TONY	a romanicario incoor	AN AND HOMAE DEALERSHIP S IN THE STA	THE OF REIGHER BINAN		Minimum		Minimum			Mode of	Fixed Fee /	
S. No.	Name of Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KLs	Category	Type of Site (CC/DC/CFS)	Frontage of Site Required	Minimum Depth of Site	Area of site Required (in		e arranged by Rs. In Lakh)	selection (Draw of	Min bid amount (Rs.	Security Deposit (Rs.
							(in M)	Required (in M)	Sq. M.)			Lots/Bidding)	in Lakhs)	in Lakhs)
1	2	3	4	5	6 (SC/SC CC1/	7	8A	88	8C	9A Estimated	9B Estimated fund	10	11	12
					SC PH/ST/ST CC1/ST PH/OBC/					working capital requirement	required for development			l
					OBC CC1/OBC PH/OPEN/ OPEN CC1/OPEN CC2/OPEN					for operation of RO (Rs. in	of infrastructure			l
					PH)					Lakhs)	at RO (Rs. in Lakhs)			
212 213	Vakkalur to Palapetta on SH34 Calicut to Kovilandy (LHS) on NH 66	MALAPPURAM KOZHIKODE	REGULAR REGULAR	170 260	SC OPEN	CFS CC	30 35	30 35	900 1225	0 32	0 12	Draw of Lots Bidding	0	3
	Koyllandy to Chombala (RHS) on Nh66 Within 2KM From NH66 Junction On Vengara Malappuram Road On	KOZHIKODE	REGULAR	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
215	SH72 Between Aluva metro station to Desom on LHS of NH544 towards	MALAPPURAM	REGULAR	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
216	Angamaly.	ERNAKULAM	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
217	IRITTI TO IRIKKUR ON SH VALLITHOD TO KUTTUPUZHA	KANNUR KANNUR	REGULAR REGULAR	130 190	SC CC 1 OPEN PH	CFS DC	30 30	30 30	900 900	32	75	Draw of Lots Draw of Lots	0 15	3 5
219	Beypore Beach to Puthlyappa Beach on beach road, Calicut On SH 61 between Potta and Irinialakuda	KOZHIKODE THRISSUR	REGULAR REGULAR	180 150	OBC OPEN	DC DC	20 30	20 30	400 900	32 32	75 75	Draw of Lots	15 15	4 5
220 221	Kondotty to Kolappuram On SH65	MALAPPURAM	REGULAR	230	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
222 223	Koduvally to Puduppadi (RHS) on Nh 766 Calicut to Koyilandy (RHS) on NH 66	KOZHIKODE	REGULAR REGULAR	230 270	OPEN OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
224	Lakdi to Vythiri (RHS) on NH 766, Waynaad	WAYANAD	REGULAR	260	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
	On SH22 between Kuranchery and Wadakkanchery From Nellikunnu center to KSRTC terminal through Jubliee hospital	THRISSUR	REGULAR REGULAR	200	OPEN SC	DC CFS	30 25	30 25	900 625	32	75	Draw of Lots Draw of Lots	15	3
226	and Sakthan market roundabouts Koyllandy to Chombala (LHS) on Nh66	KOZHIKODE	REGULAR	210	OBC	cc	35	35	1225	32	12	Bidding	30	4
228	Kalpetta ByePass on Either side, Waynaad on NH-766 OTTAPALEM TOWN (NOT ON SH/NH)	WAYANAD PALAKKAD	REGULAR REGULAR	210 125	OPEN OPEN CC 1	DC CC	20 25	20 25	400 625	32 32	95 12	Draw of Lots Bidding	15 30	5
	On NH 544 LHS from Kodakara In to Chalakudy In.	THRISSUR	REGULAR	270	SC SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Koduvally to Puduppadi (LHS) on Nh 766 Mundur Junction to Tachampara on LHS on NH-966	KOZHIKODE PALAKKAD	REGULAR REGULAR	180 155	OBC OPEN	DC CC	35 35	35 35	1225 1225	32 32	95 12	Draw of Lots Bidding	15 30	4 5
232	Mundur Junction to Tachampara on LHS on NH-966 Government District Hospital - Perinthalmanna to Amminikkad LHS on NH 966	MALAPPURAM	REGULAR	230	OPEN	cc	35 35	35	1225	32	12	Bidding	30	5
233	Within 5 KM From Sridevi Cinipalace (On Majeri to Arekkode Road)	MALAPPURAM	REGULAR	160	OBC	сс	25	25	625	32	12	Bidding	30	4
235	On NH 544 between Kodakara In and Puthukkad on either sides KALMANDAPAM IN TO OLVAKODE RAILWAY STATION ON LHS-	THRISSUR	REGULAR	270 260	SC OPEN	CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Bidding	0	3
236 237	PALAKKAD BYEPASS ROAD NH-966 Within 4 KM From Veemart On Majeri to Pandikkad Road	PALAKKAD MALAPPURAM	REGULAR REGULAR	260 160	OPEN OPEN	CC DC	35 25	35 25	1225 625	32	12 55	Bidding Draw of Lots	30 15	5
238	Calicut to Koduvally on Nh 766	KOZHIKODE	REGULAR	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
239 240	Cherthala to Thuravoor on NH 66 (LHS) Atholli to Ulliyeri on SH 38.	ALAPPUZHA KOZHIKODE	REGULAR REGULAR	250 180	ST OPEN	CFS DC	35 30	35 30	1225 900	32	75	Draw of Lots Draw of Lots	0 15	3 5
241	NALLEPILLY TO ATHIKODE JUNCTION ON STATE HIGHWAY NATTUKAL TO MANNARKKAD ON NH-966	PALAKKAD	REGULAR	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
242 243	NATTUKAL TO MANNARKKAD ON NH-966 From Perinthalmanna to Pattikkad On SH73	PALAKKAD MALAPPURAM	REGULAR REGULAR	160 170	OBC SC	DC CFS	35 30	35 30	1225 900	32 0	95 0	Draw of Lots Draw of Lots	15 0	3
244	VADAKKENCHERRY TO NENMMARA ON SH-58 From Kumbla to Badiyadka on NH 66	PALAKKAD KASARAGOD	REGULAR REGULAR	105 180	OPEN OBC	DC DC	30 35	30 35	900 1225	32 32	75 95	Draw of Lots	15 15	5
245 246	KOPPAM TO SANKARAMANGALAM ON SH-39	PALAKKAD	REGULAR	105	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
247 248	ON NEW PERAMBRA BYPASS ROAD, Perambra Lakidi to Kalpetta on either side on NH 766, Waynaad	KOZHIKODE WAYANAD	REGULAR REGULAR	180 260	OPEN SC	DC CFS	30 20	25 20	750 400	32 0	55	Draw of Lots Draw of Lots	15 0	5
249	NIDUVALLUOR TO CHERAMKUMNNU	KANNUR	REGULAR	145	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
250 251	PERIYA TO POINACHI ON NH 66 Kakkur to Baluserry	KASARAGOD KOZHIKODE	REGULAR REGULAR	170 180	OPEN OPEN	DC DC	35 30	35 25	1225 750	32 32	95 55	Draw of Lots Draw of Lots	15 15	5 5
252	Thamarasserry to Omaserry on SH 34	KOZHIKODE	REGULAR	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
253 254	BEKKAL TO CHEMANNAD ON SH PALAKKAD TOWN LIMITS (NOT ON SH/NH)	KASARAGOD PALAKKAD	REGULAR REGULAR	175 120	OBC OPEN	DC DC	30 25	30 25	900 625	32 32	75 55	Draw of Lots Draw of Lots	15 15	5
255	beypore in & Around 5 Kms KASARAGOD TO CHOWKI ON NH66 LHS	KOZHIKODE	REGULAR REGULAR	280	OPEN CC 1	DC	20	20	400 1225	32 32	75 12	Draw of Lots	15	5
	KASARAGOD TO CHOWKI ON NH66 LHS MUNDUR JUNCTION TO OLAVAKODE RAILWAY STATION ON NH-966	KASARAGOD PALAKKAD	REGULAR REGULAR	180 170	OBC	CC	35 35	35 35	1225 1225	32 0	0	Bidding Draw of Lots	30	3
257 258	WALAYAR TO NARAGAMPALLY BRIDGE ON LHS ON NH-544	PALAKKAD	REGULAR	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
259 260	ALATHUR TO KAVASSERI KRISHI BHAVAN ON SH-74 Ulliyeri to Thamarsherry on SH 34	PALAKKAD KOZHIKODE	REGULAR REGULAR	115 160	OPEN OBC	DC DC	30 30	30 30	900 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5 4
261	KUPPAM TO PARIYARAM ON NH 66	KANNUR	REGULAR	325	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
262 263	PAYYANNUR TO PILATHARA LHS ON NH66 VELLUR TO PILICODE ON NH-66	KANNUR KASARAGOD	REGULAR REGULAR	165 170	OPEN OPEN	DC CC	35 35	35 35	1225 1225	32 32	95 12	Draw of Lots Bidding	15 30	5 5
264	PANTHALAMPADAM TO VADAKKENCHERRY ON LHS ON NH-544	PALAKKAD KASARAGOD	REGULAR	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
265 266	CHERUVATHUR TO KANHANGAD ON NH66 EITHER SIDE BETWEEN KAVANAD TO CHATHANNOOR ON NH 66 EITHER SIDE	KOLLAM	REGULAR REGULAR	240 250	OPEN SC CC 1	CC	35 35	35 35	1225 1225	32 0	12 0	Bidding Draw of Lots	30	5 3
267	KOOTHUPARMBU TO CHALA ON SH 38 Poonthi Road (on Kims Hospital-Kumarapuram road within 3 KM	KANNUR	REGULAR	150	OPEN CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
268	from Kims Hospital) CHERKALA TO POINACHI ON NH 66	THIRUVANANTHAPURAN KASARAGOD	REGULAR REGULAR	470 170	OBC CC 1 OPEN	DC DC	20 35	20 35	400 1225	32	75 95	Draw of Lots	15 15	4
269 270	KULAPPULLY TO PATTAMBI ON SH-23	PALAKKAD	REGULAR	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
271 272	On LHS Veliyancode to Kuttipuram Bridge Tavanur on NH66 PALAKKAD- MALAMPUZHA ROAD (not on NH/SH)	MALAPPURAM PALAKKAD	REGULAR REGULAR	250 110	OBC OPEN	cc	35 25	35 25	1225 625	32 32	12 12	Bidding Bidding	30	4 5
273	BETWEEN CHAVARA TO KARUNAGAPPILLY ON NH66 LHS	KOLLAM	REGULAR	250	OPEN	cc	35	35	1225	32	12	Bidding	30	5
274	THATTARAMBALAM TO PUTHIYAKAVU JUNCTION ON SH 6 Attingal - Chirayinkeezhu Road, Within Municipality limits (not on	ALAPPUZHA THIRUVANANTHAPURAN	REGULAR REGULAR	150 190	OBC	DC CFS	30 25	30 25	900 625	32 0	75 0	Draw of Lots Draw of Lots	15	3
	NH, SH) From Kovalam to Karode on NH 66 RHS	THIRUVANANTHAPURAN	REGULAR	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
277	From Kazhakkoottam to Pallipuram on NH 66 RHS From kuruppampady to Nellikuzhi on state highway 16 (Aluva -	THIRUVANANTHAPURAN	REGULAR	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
278 279	Munnar Road) PATTAMBI TO VAVANOOR ON SH-39	PALAKKAD PALAKKAD	REGULAR REGULAR	110	OBC	DC CFS	30	30	900	32	75 0	Draw of Lots Draw of Lots	15	4
280	From Chakka to Kovalam on NH 66 RHS	THIRUVANANTHAPURAN	REGULAR	185	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	From Chakka to Kovalam on NH 66 LHS From Vazhappily to Perumbavoor on Either side of state highway 1	THIRUVANANTHAPURAN ERNAKULAM	REGULAR REGULAR	185 110	OPEN CC 1 OBC	CC	30 30	30	900	32 32	12 75	Bidding Draw of Lots	30 15	5
282	(MC Road) Mavelipuram junction kakkanad to Toshibha junction on seaport	ERNAKULAM	REGULAR	200	SC	CFS	30 25	30 25	900 625	0	75	Draw of Lots	0	3
283 284	airport road(Not on SH) From Chakka to Kazhakkoottam on NH 66 RHS	THIRUVANANTHAPURAN	REGULAR	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
285 286	Within North Paravur Municipality Limit (Not on NH/SH) Between Kaloor and Paingottor on State highway 44.	ERNAKULAM ERNAKULAM	REGULAR REGULAR	150 100	OPEN OBC	CC	25 30	25 30	625 900	32 32	12 75	Bidding Draw of Lots	30 15	5
287	Gandinagar Jn.on MC road to Kottayam Medical college not on SH	KOTTAYAM	REGULAR	110	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
	From Kovalam to Karode on NH 66 LHS Kollapalli to Kuriniji on SH 8	THIRUVANANTHAPURAN KOTTAYAM	REGULAR REGULAR	205 110	SC OPEN	CFS DC	35 30	35 30	1225 900	0 32	0 75	Draw of Lots Draw of Lots	0 15	3 5
290	From Perumbavaoor to Angamaly on Either side of state Highway 1 (MC road)	ERNAKULAM	REGULAR	110	OBC	сс	30	30	900	32	12	Bidding	30	4
291	Within MARADU MUNICIPALITY Limit (Not on NH/SH) On SH 50 between Mammiyoor junction and Kunnamkulam	ERNAKULAM THRISSUR	REGULAR REGULAR	170 175	OPEN ST PH	CC CFS	25 30	25 30	625 900	32	12	Bidding Draw of Lots	30	5
292 293	PUNALUR TO ARYANKAVU ON NH744	KOLLAM	REGULAR REGULAR	175 150	ST PH OBC PH	DC DC	30 35	30 35	900 1225	32	95	Draw of Lots Draw of Lots	15	4
294	Illical bridge junction to Kurishupally Junction on Thiruvathukkal Road	KOTTAYAM	REGULAR	100	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
295 296	Within Nedumangad Municipality limits (not on SH) Vazhichal on Kallikkadu Panachamoode road on SH	THIRUVANANTHAPURAN THIRUVANANTHAPURAN	REGULAR REGULAR	125 100	OPEN OBC	DC DC	25 30	25 30	625 900	32 32	55 75	Draw of Lots Draw of Lots	15 15	5 4
297	Mulamkuzha junction to Pannimottom junction	KOTTAYAM	REGULAR	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
298	On Pattithanam Manarkadu new bypass Road within Ettumanoor municipal limits. Mananthala Junction to Keraladithyapuram Junction on Powdikonam	KOTTAYAM	REGULAR	160	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
299	road	THIRUVANANTHAPURAN	REGULAR	195	OPEN	cc	20	20	400	32	12	Bidding	30	5
	Komalapuram to Thanneermukkam ON SH 40 Chenkottukonam Junction to Chekkalamukku Junction within	ALAPPUZHA THIRUVANANTHAPURAN	REGULAR REGULAR	160 165	OBC	DC CFS	30 20	30 20	900	32	75 0	Draw of Lots Draw of Lots	15	3
301 302	Municipal Corporation Limits KAYAMKULAM TO HARIPPAD ON NH 66 LHS	ALAPPUZHA	REGULAR	200	OPEN	сс	35	35	1225	32	12	Bidding	30	5
	Ambalapuzha to Alapuzha on NH 66 Either Side Nellad junction to nattimattom on State highway 41	ALAPPUZHA ERNAKULAM	REGULAR REGULAR	250 100	OPEN OPEN	CC	35 30	35 30	1225 900	32 32	12 75	Bidding Draw of Lots	30 15	5
	Nellad junction to pattimattom on State highway 41 Alapuzha to Arthunkal - on SH66	ALAPPUZHA	REGULAR	160	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
306 307	Pala to Poovarani Mahadeva Temple Jn on LHS on SH 08 Thalayolaparambu to Valkom on SH 15	KOTTAYAM	REGULAR REGULAR	100 120	SC OPEN CC 1	CFS DC	30 30	30 30	900 900	0 32	0 75	Draw of Lots Draw of Lots	0 15	3
308	Kunnupuram Signal Junction to FACT Township Junction via Manjummel road (Not on NH)	ERNAKULAM	REGULAR	200	OBC	cc	25	25	625	32	12	Bidding	30	4
309	Kaloor Junction to Ponekkara in Kochi City	ERNAKULAM	REGULAR	170	OPEN	cc	20	20	400	32	12	Bidding	30	5
310 311	From Muvattupuzha to Manjalloor on State Highway 8 Kadakkal to Madathara on SH 64	ERNAKULAM KOLLAM	REGULAR REGULAR	110 140	SC OPEN	CFS DC	30 30	30	900 900	32	75	Draw of Lots Draw of Lots	0 15	3
	Varkala, within municipality limits (not on SH)	THIRUVANANTHAPURAN	REGULAR	165	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
313	Nedumangad Municipality limits on Nedumangad Thekkada road SH	THIRUVANANTHAPURAN THIRUVANANTHAPURAN	REGULAR	105	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
314 315	Within 3 kms from Keltron Junction on SH towards Vazhayila Kuruppanthara junction to Edayazham on SH 40	THIRUVANANTHAPURAN KOTTAYAM	REGULAR REGULAR	120 110	OPEN SC CC 1	DC CFS	30	30	900 900	32 0	75 0	Draw of Lots Draw of Lots	15 0	5 3
316	From Tirurkad Junction Annakayam to Govt College Malappuram On SH71	MALAPPURAM	REGULAR	150	OBC CC 1	сс	30	30	900	32	12	Bidding	30	4
317	From Paruthippara to Ambalamukku Junction within Municipal Corporation Limits	THIRUVANANTHAPURAN	REGULAR	185	OPEN	сс	20	20	400	32	12	Bidding	30	5
	From Aryanad to Uzhamalakkal on SH Konni to Koodal on SH8	THIRUVANANTHAPURAN PATHANAMTHITTA	REGULAR REGULAR	101 140	OPEN PH SC	CC CFS	30 30	30 30	900 900	32 0	12 0	Bidding Draw of Lots	30	5
243														

		NOTICE FOR A	PPOINTMENT OF REGUL	AR AND RURAL DEALERSHIPS IN THE STA	TE OF KERALA - BHAR	AT PETROLE	JM CORPO	RATION LIM	ITED					
S. No.	Name of Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KLs	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in M)	Minimum Depth of Site Required (in M)	Minimum Area of site Required (in Sq. M.)	applicant (e arranged by Rs. In Lakh)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6 (SC/SC CC1/ SC PH/ST/ST CC1/ST PH/OBC/ OBC CC1/OBC PH/OPEN/ OPEN CC1/OPEN CC2/OPEN PH)	7	8A	8B	8C	9A Estimated working capital requirement for operation of RO (Rs. in Lakhs)	9B Estimated fund required for development of infrastructure at RO (Rs. in Lakhs.)	10	11	12
320	Attingal, within Municipal Limits(not on NH and SH) From Kuruvankonam Junction to Mukkolakkal within Municipal	THIRUVANANTHAPURAN	REGULAR	190	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
321	Corporation Limits	THIRUVANANTHAPURAN	REGULAR	240	OPEN	cc	20	20	400	32	12	Bidding	30	5
322	Alamcode to Kilimanoor on SH	THIRUVANANTHAPURAN	REGULAR	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
920	ALAPUZHA MUNICIPALITY LIMIT NOT ON SH AND NH	ALAPPUZHA	REGULAR	200	sc	CFS	25	25	625	0	0	Draw of Lots	0	3
324	Between Vamanapuram to Kilimanoor on MC ROAD SH	THIRUVANANTHAPURAN	REGULAR REGULAR	120 150	OPEN OPEN	DC DC	30	30	900	32	75 75	Draw of Lots	15	5
325 326	Ambalapuzha to Edathua SH 12 Venjaramoodu towards Attingal on SH	ALAPPUZHA THIRUVANANTHAPURAN	REGULAR	135	OPEN	CC	30 30	30	900	32	12	Draw of Lots Bidding	15 30	5
	Chullimanoor Junction to Nanniyode on Trivandrum-Thenmala road	THIRUVANANTHAPURAN	REGULAR	110	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
327	SH Ottapunna to Cherthala Town	ALAPPUZHA	REGULAR	150	SC	CFS	25	25	625	0	0		0	3
	Ottapunna to Cherthala Town Kunnikode to Punalur ON NH 744 Either side	KOLLAM	REGULAR REGULAR	150	SC OPEN	DC DC	25 35	25 35	625 1225	32	95	Draw of Lots Draw of Lots	15	5
	Kodimatha to Chingavanam on NH 183	KOTTAYAM	REGULAR	200	OPEN CC 1	cc	35	35	1225	32	12	Bidding	30	5
	Vallathol junction to Thevakkal junction within municipal limits (not	ERNAKULAM	REGULAR	125	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
	on SH/NH) CHATHANNOOR TO PARIPPALLY ON NH-66 RHS	KOLLAM	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	From Nerimangalam to kothamangalam on LHS at Nellimattom on	ERNAKULAM	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
333	NH85 From Desom to Aluva metro station on LHS of NH544 towards													
334	Ernakulam	ERNAKULAM	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	From Valakom junction to Muvattupuzha on NH85	ERNAKULAM	REGULAR	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
336	Konni to Pathanamthitta on SH 8 ANCHALUMOOD TO KUNDARA ON NH 183 (ON EITHER SIDE)	PATHANAMTHITTA KOLLAM	REGULAR REGULAR	140	OPEN SC	CC CFS	30 35	30 35	900 1225	32 0	12	Bidding Draw of Lots	30	5
	Palachuvadu junction to Vennala Junction within municipal area (not	ERNAKULAM												4
990	on SH/NH)		REGULAR	200	OBC	DC	25	25	625	32	55	Draw of Lots	15	
	Udayanapuram to Chempu on LHS on SH 15 Puthupalli to Thottakkadu on SH 9	KOTTAYAM	REGULAR REGULAR	120 140	OPEN OPEN	DC DC	30 30	30	900	32	75 75	Draw of Lots Draw of Lots	15 15	5
	Puthupalli to Thottakkadu on SH 9 Kanjirapalli to Mundakkayam on NH 183	KOTTAYAM	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
342	Angamaly junction to Desom on LHS of NH544 towards Ernakulam.	ERNAKULAM	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
343	CHADAYAMANGALAM TO NILAMEL ON SH 1	KOLLAM	REGULAR	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	VALAKOM TO CHADAYAMANGALAM SH 1	KOLLAM	REGULAR	150	OPEN	cc	30	30	900	32	12	Bidding	30	5
345	Elanthoor Jn bus stop to Pathanamthitta on SH7 From Kattalkonam Junction to Vettu Road Junction on Kazhakoottam-	PATHANAMTHITTA	REGULAR	140	OBC	cc	30	30	900	32	12	Bidding	30	4
346	Kilimanoor Road, Within Municipal C	THIRUVANANTHAPURAN	REGULAR	245	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Monipalli to Achickal on SH 1	KOTTAYAM ERNAKULAM	REGULAR REGULAR	140 175	OPEN OPEN	CC	30 25	30 25	900 625	32	75 12	Draw of Lots Bidding	15 30	5
	SN Junction to Vennala Government LP School (Not on NH/SH) Kanaikkari to Thalayolaparambu on SH 15	KOTTAYAM	REGULAR REGULAR	175	OPEN	cc	30	30	900	32	12	Bidding Bidding	30	5
350	Thiruvalla to Kuttor on NH 183	PATHANAMTHITTA	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
351	Kozha to Monipalli on SH 1	KOTTAYAM	REGULAR	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
352	Nagampadam Junction to Pattithanam Junction on SH 01	KOTTAYAM	REGULAR	200	OPEN	cc	30	30	900	32	12	Bidding	30	5
	Kavumbagham to Kadapara on SH 6	PATHANAMTHITTA KOTTAYAM	REGULAR REGULAR	120 120	OBC OPEN	DC DC	30 25	30 25	900 625	32 32	75 55	Draw of Lots Draw of Lots	15 15	4 5
	Pala Bypass Road Not on SH or NH Mulakuzha to Panthalam on SH 1	PATHANAMTHITTA	REGULAR	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	PUNALUR TO PATHANAPURAM ON SH 8	KOLLAM	REGULAR	150	OBC	cc	30	30	900	32	12	Bidding	30	4
	At Nedumkukandam on State Highway 40	IDUKKI	REGULAR	100	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
358	Within Pala Municipal Limit not on Pala bypass not on SH/NH	KOTTAYAM	REGULAR	120	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
359 360	Chingavnam to Changanassery on NH 183 Ponkunnam to Manimala on SH 8	KOTTAYAM	REGULAR REGULAR	200 150	SC OBC	CFS	35 30	35 30	1225 900	32	0 12	Draw of Lots Bidding	0	3
	Between Thiruvalla and kizhakken Muthoor Busstop on Thiruvalla-	PATHANAMTHITTA	REGULAR	140	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
361	Mallappally road Pampadi to Pulickal Kavala on NH 183	KOTTAYAM	REGULAR	150	OPEN	cc	35	35	1225	32	12	Bidding	30	5
362	Munnar-Kumily highway (Between Poopara Jn and Amayar Jn. on SH	IDUKKI	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
363		ERNAKULAM	REGULAR	450	OBC	cc	35	35	1225	32	12	Bidding	30	4
	Between Angamaly to Karukutty on LHS of NH 544 towards Trissur Adoor to Enathu on SH1	PATHANAMTHITTA	REGULAR	160	OPEN	cc	30	30	900	32	12	Bidding	30	5
	From Vytilla junction to Kumbalam toll plaza on RHS While going to Alleppey on NH66	ERNAKULAM	REGULAR	200	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
366	On NH 66 LHS from Chandapura center, Kodungallur to Kottapuram	THRISSUR	REGULAR	200	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
367	bridge Palode to Karumancode on SH	THIRUVANANTHAPURAN	REGULAR	130	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Panthalam to High school Junction Adoor on SH1	PATHANAMTHITTA	REGULAR	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
370	Perumthrikkovil Shiva Temple to GOVT hospital Poothotta on SH 15 on both sides on Valkom road	ERNAKULAM	REGULAR	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
3.0	Thoppumpady junction to Chellanam Panchayath office on SH 66 in	ERNAKULAM	REGULAR	115	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	Ernakulam District Between UPPUKUNNU and CHEENIKUZHY on State Highway.	IDUKKI	REGULAR	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
	Between karukutty and Angamaly on LHS of NH 544 towards	ERNAKULAM	REGULAR	345	OPEN	cc	35	35	1225	32	12	Bidding	30	5
373	Ernakulam Nayarambalam Bhagavathi Temple to Pallippuram GOVT UP School													
374	on Both sides on SH63	ERNAKULAM	REGULAR	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
375 376	Vypin junction to Nayarambalam Post office Both sides on SH 63 Muttom to karimkunnam on State highway 42	ERNAKULAM IDUKKI	REGULAR REGULAR	195 100	OBC OPEN	DC DC	30 30	30 30	900	32 32	75 75	Draw of Lots Draw of Lots	15 15	4 5
	Kazhuthumuttu junction to Fort Kochi Veli ground via santo Gopalan	ERNAKULAM	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
377	Vengalloor - Mangatukavalla bypass road with in municipal limit(Not	IDUKKI	REGULAR	100	OPEN	DC	25	25	625	32	55		15	5
378	on SH) Kacheripadi Excise zonal headquarters to Cochin Corporation zonal	-										Draw of Lots		
379	office Vaduthala	ERNAKULAM	REGULAR	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
380	From Edappally Junction to Varapuzha bridge on RHS on NH66 while going toward Guruvayoor	ERNAKULAM	REGULAR	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
381	Edappally LULU MALL JUNCTION to Aluva metro station on NH 544 on RHS while going to Aluva side.	ERNAKULAM	REGULAR	500	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Vytilla Junction to Palarivattom police station on Mahakavi Vailoppilli	ERNAKULAM	REGULAR	200	OBC	cc	20	20	400	32	12	Bidding	30	4
382 383	road (Thammanam Road) Between Todupuzha and Kumaramangalam on state highway44	IDUKKI	REGULAR	100	OPEN	cc	30	30	900	32	12	Bidding	30	5
	Vytilla Junction to Medical Trust Hospital on Sahodaran Ayyappan	ERNAKULAM	REGULAR	400	OPEN	cc	20	20	400	32	12	Bidding	30	5
304	road Pottakuzhi junction to Kattungal Temple Pachalam in Kochi City	ERNAKULAM	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
	From Puthenkurish Govt School to Valakom junction on both side on	ERNAKULAM	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
386	NH 85 in Ernakulam district Kunnupuram junction to Amritha hospital on poysha Road in Kochi													
387	City	ERNAKULAM	REGULAR	200	OPEN	cc	20	20	400	32	12	Bidding	30	5
388	Between Vandamattam and kodikulam on state Highway Edappally LULU MALL JUNCTION to Aluva metro station on NH 544	IDUKKI	REGULAR	121	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
389	on LHS while going to Aluva side.	ERNAKULAM	REGULAR	525	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
390	From Vytilla junction to Kumbalam toll plaza on LHS While going to Alleppey on NH66	ERNAKULAM	REGULAR	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between 6th mile to Adimali on NH85 (Aluva - Munnar road)	IDUKKI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
392	Between Todupuzha and Muttom (5 Km from todupuzha town) on state highway	IDUKKI	REGULAR	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
393	Valanchery to Kottakal RHS on NH 66	MALAPPURAM	REGULAR	220	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
394	Pullad town Main Junction to Kozhencherry on SH07/09	PATHANAMTHITTA	REGULAR	110	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
395	Murikassery to Thopramkudy On SH40 From Edappally Junction to Varapuzha bridge on LHS on NH66 while	IDUKKI	REGULAR	165	OPEN	cc	30	30	900	32	12	Bidding	30	5
396	going toward Guruvayoor	ERNAKULAM	REGULAR	200	OPEN	cc	35	35	1225	32	12	Bidding	30	5
397	Ponnarimagalam toll plaza to Kalamassery over bridge on RHS while going to Kalamassery on NH 966A	ERNAKULAM	REGULAR	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	From Thiruvankulam junction to Puthenkurish sub registrar office on both sides on NH8S	ERNAKULAM	REGULAR	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
	From Valluvambram Junction to Manjeri On SH 28	MALAPPURAM	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
400	within tanur municipal limits	MALAPPURAM	REGULAR	160	OPEN	cc	25	25	625	32	12	Bidding	30	5
401	Within Chalakudy municipal limits(not on NH/SH) WITHIN 02 KM OF THOTTADA ON THALASSERY ROAD (NOT ON	THRISSUR	REGULAR	150	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
402	NH/SH)	KANNUR	REGULAR	235	OPEN	DC	30	25	750	32	55	Draw of Lots	15	5

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in/www.petrolpumpdealershayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee In Rs.	Type of RO	Type of Si	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000	Ī	CC	OBC	4000
Regular ROs	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000	Ī	DC	OBC	4000
1	DC	Open	10000	Ī	DC	Open	8000

^{*} The site should either be Owned or on lease with applicant for minimum 19 years and 11 months or Applicant should have firm offer for the same.

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For Purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts Covered	Address	Contact no
	Ernakulam	Territory Co-ordinator(Retail) Ernakulam,	7904596724
	Alappuzha	Bharat Petroleum Corporation Ltd,	0484-2774602
	Idukki	IRIMPANAM INSTALLATION,	
Ernakulam	Kottayam	Seaport- Airport Road,	
EIHAKUIAIII	Pathanamthitta	Irimpanam P.O,	
	Kollam	Ernakulam,	
	Thiruvananthapuram	Kerala-682 309.	
	Kasaragod	Territory Co-ordinator (Retail), KOZHIKODE,	9448994451
	Kannur	Bharat Petroleum Corporation Limited,	0495-2761032
	Kozhikode	Calicut Territory office, Building No. 2845,	
G 11 .	Wayanad	YMCA Cross Road, Calicut	
Calicut	Malapuram	Kerala- 673 001.	
	Palakkad		
	Thrissur		
	Mahe		